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NANYANG PR!MARY SCHOOL

MID-YEAR EXAM!NAT!ON
2022

PRIMARY 6

MATHEMATICS
- PAPERT1
(BOOKLET A)

Total Duration for Booklets A and B: 1 hour

Additional materials: Optical Answer Sheet {OAS)

'INSTRUCTIONS TO PUPILS

1. Do not turn over this page unfil you are told to do S0.

2. Follow all instructions carefuily.

3. Answer all questions.

4. Shade your answers in the Optical Answer Sheet (OAS) provided.
5. The use of calculators is NOT allowed.

Name: ¢ )

Class: Primary 8 { )







Questions 1 to;*i D.carry 1 rm‘air_k each, Questions'11 to15 camy:2 marks each.
Foraach question, four oplions are given.  One of them is the correct answer.
Make your choice (1, 2,3 or4) and shade your answer on the Optical Answer

Sheet. {20 marks)
1 In the number line below, what is the value of Y?
26 T 2.9 30
) _

() 285

(2) 28

(3) 275

4y 237 -

(1

(2)

A3).

{4

5
Find the value of 5 - .

adh

w—y

4

o Blo «{3

alf 3



Which of the following is thie samie as 25% of 20%?
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Obtuse-angled tiangle
Right-angled triangle

Equilateral triangle
Isosceles triangle

{1)
2)
®
{4)



5 Inthefigure below, WXYZ is a rhombus,

W

e

Which one of the following is false?

{1y WXNZzY
(2) LXYZ=LXWZ
(8) LWZY=LZWX

(1)  LWZY + £XYZ =180"



B

ch isaldanglewith AB=10cmand BC=15cm. BE= x:] cmand
AD=21¢m, Find theareaof friangle ABC,

1ocm 4 4
¥ ]
i
‘33 8 ":EE :
S m
Bomy 7 i '
{ 1
- /AN W
e B

() 4Dcm?
(@) 60om? | i
3) 75cm?
(4) Bdcm?

What is the area of 2 circle with d}ameter B0 cni?
(Takex=23.14) :

(1) 9d2cm?
(2) 188.4cm?
(3) 2826cm?

@ 11304 corr?



b Which of the fonowmg is likely to be the length of an approved scientific
calculator for PSLE?

(1) 0.018m

2) 0418m )
3) 1.8wm

4) 18m



ES

Use the inforrmation below o answer questions 8 and 40,

The bar graph below shows the number of cars sold from June to September.

14 000

" 42000 -}

- 10:000 ~f—
umberof 200 T
carssolg 6000 ~p—
'4"-3‘?"-’-" . .
2000

o -

June  July August  September

9  Ilawhich month was the number of cars sold half as many as the ntimber

of cars sold in September?

(1Y June
() Jduly
i3) A_ugust

(M) Seplember



10

11

-Which one of the following statements is trila?

(1) The number of cars sold in June was 8500,

(2)  The nuinber of cars-sold in July is 9 ihe number of cars sold in
" duhes

{3} The increase. in the number of cars sold from August fo

Seplember was 9000,

{4}  The tolal number of cars sold'in Jine and, August is the same as
the number of cars sold jn duly.

J.ast month, the florist soid 800 roses.  This month, she sold 1000 roses.
What was the percentage increase in the number of roses sold?

) 20%
(2) 26%
(3)  80%
(4)  200%




-

12 The figure below is made up of 3 ientical quarter -circles of radius
28cm, Findits penmeter {Taker= -2—- Y

28¢cm

28 om |

{1} 132om
{2) 176om
(3) 188om,

-{4) 232cm

13 Alollipop cost $0.70. There were 80 lollipops in a box.  Janie bought
8 such:boxes of lollipops for her class party. How much did she spend
on the lollipops?

(1) sd08 -
(2) 9428
(3) %448
(4 $560



>

14 An empty rectangular tank was40 cm long, 20 cm wide and 80 cm high,

15

Mary poured some.water into it and the water level réached & height of
30cm.  Howmanpy litres of water were there inthe tank?

{1) 64000
(2) 24000
(3) 64
.@},' 24

Ranjeet and.Samy made some birthday cards over two days. ©On
Saturday, Ranjeet made 29 more cards Ihan Samy. On Sunday,

.Ranjeet made another 30 cards and Samy made another 25 cards, At

. 3
the end of the two days, Ranjeet made 3 of the fotal number of cards.

What was the id.tal number of cards Samy made over the two days?

(1 34

() 68

(3) 102 ]
)y 170
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PRIMARY 6
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PAPER 1
(BOOKLET B) |
Total Duration for Booklets A and B: 1 hour

INSTR‘UCTIONS TO PUPILS

1. Do not turn over this page until you are told to do so.
2. Follow all instructions carefully

3. Answer all quesuons

4. Write your answers in this booklet.

5. The use of calculators is NOT allowed,
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Quiestions: 16 fo 20 cany ‘I mark each. Write your answers in the spaces
provided. For questions. which require units, give your answers in-the units
-Stated. {5 marks)

16 Express 3% as a decimal,

Ans:

17 The volume of a cube is 125 cn®.  Find the length of one edge of the
cube. ’ ’ .




13 6 unit;;uﬁes‘~were sté’c.ked and. ghied fogether to foim the solid below,

e &+ 1 E
Front view . Side view

Draw the side view of the solid on the grid below.

Side View
» * ] - 4 & L4 L]
-] ] ] ] a & & o
» L ] - - L] 2 < 2
- » - - » » L] A4
2 * | v ¥ ity 3 E)
° ) £ 5, @ o > a .
1
2




19 Inthefigure below, POR is a right-angled tiangle, szPR=35’;- Find

ZPRQ.
P . - Q
L
R.
Ans:

20 inthe figure below, ABCD is a trapezium and AB is paralle! to DC.
LABC=868". Find £BCD.

A , B
‘ ' 68"
D o
Ans: _ "




Questions 21 to 30 carry 2 marks each. Show your woiking-clearly and write
youranswers in the spaces piovided,  For questions whichrrequire units, give
youranswers in the tinits stated, {20 marks)

21 In the figure below, JKN & an isosteles triangle and KEMN is a
parallelogram.  JNM is a straight line and JiK = KN, L ZKNM = 110"
Find ZJKN. '

Ans: ‘ o

——— v B ——— U

22 Find the cireumference of a circte of radius 5 cm. {Takex=13.14)

Ans; cm




23 The ﬁgur_abelewismadé-up of 2 semicircles. XY is-half of XZ,
XY=14¢m. Findtheareaof the shaded part. ( Take n= -2?—2- )

Ans:




24 Aslraight fing EF is drawn on a square grid inside abox.

» . . » | -O * E ] * L 3
» * » 4 * » * » »
. 0y 9 » * » - » »
- . * » » a « 8 &
k4 L * - * ®
] % & L 4 ¥ ]
Py . . v | o‘ ® . Y %

G is one of the dots inside the box.  Draw two lines F& and EG o
complete thiangle EFG with ZEFG = 90" and EF =FG.

" 25  Acuboidis 0.4 mlong and 20 emwide. Ithasa volume of 20 000 crnd.
Find the helght of the cuboid.

20 C‘H/

4
¥

0.4 m

Ans: ' om




28

Two numbers add uﬁ to 364. Oneof ih.a; nuribers Is-a 2-digit number
and the other is a 3«digit number. What is the smallest possible
difference between the two numibers?

Ans:

27

s

VU P el Y T b e a3 b e e e T

> —

Use all the digits 7, 0, 4 and § to form

(a) the smallest multiple of 10

Ans: ~{a)

(b} the even number closest te 5000




28

_ Shariice.had a bottle of shampoo. She used an equal amount of

shampoo each day, Atthe end ofthe 7% day, g- of the bottle was left,
At-the end of the 15 day, the amount of shampoo left was 280 m.
What was the amount of shampoo Trethe botile at first?

Ans: : mi




29

. A rectangular block P-was cut along the doited. line info fwo smaller

rectangular blocks Q and R as shown béfow, "The volume of Q was g-

the volutme of R, The difference in volume between Q and R was
12000 cm®.  Find the unknown edge of block P.

P

JL
+

"3




30 Devi collected 35 @s.many foreign coins as Haminah. Haminahi

collected g as many foreign coins as Liling.  What was the ratio of the
number of forelgn colns: Devi collected 1o the number of foreign coins
Liling collected?

Ans; -

End of Paper

10
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. The use of an approved calculator is allowed.
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Quest:ons 1 1o 5 carry 2 mafks each, Show your working clearly and wnte
your answers in the ¢ spaces provided.. For questions which require units, give
your answers in the unils stated. (10 marks)

1 The bar graph below shows the number of stamps collected by 4 boys,

100 -
-B.Q
Number of
stamps 40 -b—
collected ‘
20
0 4 —

Greg | .Lyzt":don ' ﬂ’usof

Complete the table with the number of stamps collected by each boy.

) i Nafﬁe - | N_umberofsfam.ps coilected
.- Greg T bl} | -
| "L\ﬂ']d{)n T - )
F ;:eon_ |




2

A bicycle wheel of diameter 80 cm made 3 complete tums, Find the
distance covered. {Takeéz=3.14) o

Ans: . ¢

3

MrTan bought a laptop.  The price ofthe laptop before GSTwas $2500,
He had to pay GST of 7%. on the price of the laptop. What was the
amount of GST he had to pay?

Ans: $




-

4 Amachine started pnntmg brochures 4t 8 a.m. on Wednesday at a raly
of 800 brochures per hour,  After every 5 hours of printing, it would be

stopped for ani hour to coof down;  How many brochures were printed
by 6 a.m. the nextday?

Ans;

e - w e et

i L e iy A% A

J T ——

5 Kendrik bought 4 different storybooks. The first storybook cost $44 and

- 3
the average cost of the remaining storybooks was 7 of the cost of the

first storybook:  How much did he pay for all the storybooks?

Ans: $




“For queshons 8 to 47, show yotie working clearly and write your answers h’l the
spaces pravided. - The htimber of eharks available is shawn in brackets | - ] at
‘the end of éach quesﬂon or part-question. (45 marks)

6 Thefigureismade upofatestangle and a triangle overlappiry each other
85 shown. 3— of i rectangle and »-2- of the tiangle is unshaded, The
area of the unshaded part of the ﬂgure is 57 cm2

(a) Findthearea ofthe rectangle.

) | Ans: (é} R

{b) What fraction of the figure is unshaded?

Ans: (b) : N




7 | Thedfi fgure below is made up.of a quarter circle and a Hiangle: The

', sadius of the quarler circle is 20-m.  Find the area of the shaded part
(Taken=314) .

20 m

CAns: {3

8 Jdé had a recltangular piece of papet, 36.8 em by 28 cm, as shown
below. He cut out as many squares as possible from the paper. The

side of each square was 5 cm. - Atmost, how many squares dxd Joe cut
out?

36.8 cm

29 cm

Ans: _ [3]




8 Suziiormed a solid using some 2-tim, 3-cm and 5-cmcubes. She used
atfotal of 18 cubes to-form the solid. The total volume of the sofid was
" 707 eni®.  How many 2-cm cubes did Suzi usa?

Ans: | L




10 . The following diagram shows a plece bi“paper QRSTin the shapeof g
trapezium. ZTQR =115". The paperis folded along line UV'whichis

R

(a) Find £x.

Ans: (a) , " {1]

(b) Find Zy.

Ans: (b) [2]




1 inthe figure below, EFGH is a square. /FKE = 106" and FE = EJ
- FKH and JKE are straight lines.  Find ZKEJ, -

E__ G
1 T

106\ /

Ans: ___ 14




12 There are two' different shops offering the fol!owmg discounts for the
same bag priced 3t $95 before duscount.

 ShopA 1 shops

$95 before |

$95 before
| . dischunt

distount

20%dlscount 1] - $15 discount

{.‘a} Whi,qh shop sold the bag at a lower price? Show you“r working
clearly.

Ans: (8} Shop 2]

(b) Lisa had $100. She bought the bag from the shop that offered a
lower price. How much money did sha have left?

: (b) 2




13 A reclangular tank with 2 base area of 3500 cm? 'an‘&a -i\el'g,_h,t of 80 cm’
i _ , _
was z-ﬁiled with wateratfirst. At8am..a t.ap.wa'sztumed on and water

was diained from the tank atibe rate of 4 jifres per micute.  At8.06a,m.,
the tap'was fumed off.

{2) How much Water was dralnéd from the tank?

 Ans:. (8) __. 1

(b} After the tap was turned off, how much more water was needed {o
fill the tank completely? - .

Ans: (b) £3)

10



14 A pencil and an eraser cost $1.05. The pencil and a mler cost $0.85,

: Bemicepald $6.90 for 8 such pencils and 5 such erasers. Chandra paid:
$3.30 for some rulers.,

{a) What was the cost of one such eraser?

Ans: (a) _ 2]
(b) How many stich rulers did Chandra buy?

Ans: (b) ‘ — [2]

1




15

Karl had clips of four different colours, a ‘of the glips were white and 5

of the remaining clips were red. - He had an equat number of blue clips

and yellow clips. . Karl tiad 85 blue clips,

(a) How many red ¢lips did he have?

‘;f\ns_: (@ | i2]

(b) Karl packed all the blue clips into small, medium, and large boxes.
He filled each small box with 2 clips, each medium box with 3 clips
and each large box with 6 clips.  All the boxes were full and there
was no ¢lips left over, What was the Jeast number of boxes used
by Karl?

Ans: {b) : [2]

12



16 The figure below:is made up of 16 identical semicireles and a tectangle.

) . : : 22
The diameter of each semicircleis 14 cm. {Taken= 5 )

{(a) Find the perimeter of the figure.

Ans: {(a) — {2

(b) Find the area of the figure,

Ans: (b) Bl

13



. The ariiount of money Kathy had to the amount of money Alice had was

" 814, AfterKathy spent $250 on a bag and gave $50 to Alice, the ratio
‘became 1 2,

(@) How much money did Alice have atfirst?

Ans; (a) ~ (3]

{b) How much.money did Kathy have at the end?

Ans: (b 2

End of Paper. .

14
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